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12 78 (12+11+10+...+1)
24 300 (24 +23+22+...+1)
36 666 (36 +35+34+ ...+ 1)
48 1,176 48 +47+46+ ... + 1)
60 1,830 (60 + 59+ 58+ ... +1)
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(1) BREFF LGB : (5 0 HKS60,000, 43128fitak, LAAEH 1 1E0.09% 15
ISYillSPisa ESNERYS (¢l
PR X & H PR XGEZHH(A) (ByaioR 4 + BORETTSE) 1 I8F(H)
= HK$60,000 x 0.09% x 124~ H = (HK$60,000 + HK$648) / 12/~ A
= HK$648 = HK$5,054

(2) BB (HKD)
v .
s EYEpUS ¢ FIR X AKERB
1 5,054 648x12/78 =  99.69 5054-99.69 =  4,954.31 55,045.69
2 5,054 648x11/78 =  91.38 5054-91.38 =  4,962.62 50,083.07
3 5,054 648x10/78 =  83.08 5054 -83.08 =  4,970.92 45112.15
4 5,054 648x09/78 = 7477 5054 -7477 =  4,979.23 40,132.92
5 5,054 648x08/78 =  66.46 5054 -66.46 =  4,987.54 35,145.38
6 5,054 648x07/78 = 5815 5,054 -58.15 =  4,995.85 30,149.53
7 5,054 648x06/78 =  49.85 5,054-49.85 =  5004.15 25,145.38
8 5,054 648x05/78 = 4154 5,054 -4154 =  5012.46 20,132.92
9 5,054 648x04/78 =  33.23 5054-33.23 = 5020.77 15,112.15
10 5,054 648x03/78 = 2492 5054-2492 =  5,029.08 10,083.07
11 5,054 648x02/78 =  16.62 5054-16.62 = 5,037.38 5,045.69
12 5,054 648x01/78 = 8.31 5054-831 = 5,045.69 0.00
At 648.00 60,000.00
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